(1) RERE

(HY+H(I)+(])-(K)

(A2 M)

—kp R mEEsgepas | EROFEL | PADERL | g | e
THEBA (A) 284,853,000 494,541,000|A 209,688,000 A 42.4 %
R AREH (B) 285,550,679 484,724,454|A 199,173,775 A 411 %
% A 4H (C) 244,046,467 388,039,495|A 143,993,028 A 371 %
RARMZESZE (B) — () (D) 41,504,212 96,684,959 A 55,180,747 A 57.1 %
BEEIZHRYETREMIE  (E) 0 68,280,000| A 68,280,000 B
FEEINEZ (D) — (E) (F) 41,504,212 28,404,959| 13,099,253 46.1 %
AR B R E I (G) 28,404,959 55,107,445 A 26,702,486 A 48.5 %
BEEINZ (F) — (@) (H) 13,099,253 A 26,702,486| 39,801,739

TEL & (1) 0 0 0 0.0 %
B EEEE (n 0 0 0 0.0 %
FESL O HUA LR (K) 0 0 0 0.0 %
REBE R (L) 13,099,253| A 26,702,486| 39,801,739
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